96+ (4x4) O 7Tx(36+9)

m

vV V¥
0
il
A

96 + (4% 4) = 96 + 16 = 6
7Tx(36+9)=7x4=28




D12:1, 2, 3, 4, 6, 12
@8:1, 2, 4,8

®9:1, 3,9

@18:1, 2, 3, 6,9, 18
®24:1, 2, 3, 4, 6, 8, 12, 24
- ®




= % 99 BT} opd A2 oj= AYY7R?

® 2385 @ 6678 3 5004

®)9181 ® 50688

2] 2} A2 o] 2219 gto] 9 9] wj4=7} obd
D2+3+8+5=18
@6+6+T7+8=27
®5+0+0+4=9
@D9+1+8+1=19
®5+0+6+8+8=27




)




o

o

v V. v Vv
0
o
A

0%
o
v

B
1) 55 [

5X2

(2) 42%x2

11x2 22

15x2 30

038 0
84 = "28x3 84




2 1
5 =3%x2"3

1
@3

12 1x12 1
®%:3x12__

7
® 5
©2_7:1><27_1

81  3x27 3
weta] 27)7 o2 B

o~
i
T
=




D1,2 36,9, 18 > 671

@1, 2,4,5,10, 20 - 671

® 1,2, 4,8,16,32 - 671
@1,23,4,6,9,12, 18,36 - 971
®1, 7,49 > 37}

— 36




Stk o] B0 Bajet B o] ghe 260]1, A
2 AR5 e 22 R2AL.

3)=

11
17 ® 17

17
ORT

ol Mo EEE A, ZAE 0zt S W,
A 12[13]14[15][16]17
= 415167819
A+0O 16 | 1820 [ 22|24 26
A-O 888 [8[8]38

O 9

AT

watAd, A =17, 0=9 °|B =2,

—




F5L 1 YRE BES o AFs 2 stasUth AFT EL
o 2 W2 SofubA] 4 ol 36000 €ol HRTHT B of, £57} 1

A& Y7ot
19 (x2) 22¢¥ (x2) =39 (x2) = 4¥ (36000%)
wahA] 1 Gofl A9 =2 36000 + 2+ 2+ 2 = 4500(Y) ¥Y .




o

1
)

12 12
60 =12

12
60




B2 2 40 AR e 2

— |

/NN
< oA o

AN <FH D

— N~

U

1

ot

&

22 = vl

]

X
<+
ld

4) (18 20
_’_ _) _,_
59 45" 45

(2




12, #golt 134t0], AUt slgoluet 54 W Yol &
ob¥| 2|t ol et 1] o] ko] o] Fo] 3ufsct 74 Tk o]
Fohr| 7] o] Al LrteU7?

=i Al

>
> HE D 86 A

{13+ (13 +5)} x3-7
=(13+18)x3-7
=31x3-7=093-7=286(A)




skar, A& 2t AAkel 19704

g

Ao 4544 8 ARl B 1%

4072F

il
)

{(136 + 144) x4 — 45 x 8} + 19

o
—
._.
w0
X ..
O
SIS
_6
™
T
X o
o XN
0
N
S—
Il

760 + 19 = 40747}




14.

updofl A MAazE i 15 2, FFdL2 12 vt
gyt o 7 Al AT} FF= T ARE A

1Y
H, A oz FAO Fehs Az AAIEU7E?

15 9+ 12 o] FAFHla= 60 YU Th

I B oAl Mo g FAof Edche Al
60 x 4 = 240 (&), =, 4 A2+ F7F Ut

7 Al+4 A= 11 A]




15.

>
> HE . 135cm

we 22 ot A2 D olx,
8T 72 Zolrt WA | o=z
= éo] 15cm Yyt

kA g0l 7HA 1 7] Aol
15x 9 = 135(cm) YUth




